HXE 3 (BB 7 5EHR)
SFT 4 HLé? H

sfSRSEmE KA KW B
\ o
sk B EETaN
SRR T\[L % 7 \E/n
ST64EE (5~ 3 H%)) BEIEEEIGEREITOWT

s R A TS B DA B A4 7 406 1 TRICEE O X, ko LB 4
FI64EEE (5~3A%)) DBFEEEEIGEREELIRE UETS



A 38 B 75HEM

Afn 78 48 28H
2 6 4F BB R |

sfiigaEE KA BEE K

2 SR

RIENE LA R (L22) B
1 XA
segaEsg 1, 485,000 M
2 XH ,
: (HAL - [)
& & * W I =
r—‘g 3 eS
ST 533, 678 ?ﬁ\\g—ﬁ 97, 000 %ﬁﬂﬁiﬁ% 43, 626
HYYy 223,019 EIE 169,973
o
I <
= B8 & 13, 247 NIT 77 A F A 13,247

7 - BRIETEER

= B R

ERHERE 13, 250 SCEfth 11,666 FT 1 584
RORHIEARE 200, 147 iﬁ:ﬁﬁ 1‘;5 4227

UNEE

BHE

& & 760, 322

D) R, X RHOMRETERT S L

3 R 724,678 H



